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TIME, SPEED, AND DISTANCE
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Time - Constant



" CLASS EXERCISE

Vd
and starts running at the speed o

A thief@ policeman at a distance o
h. What is

km/h at the same time policeman start to chase him at the speed o
the distance travelled by th# efore catch? Ush IR 7 U U T 100 "X
aht 3t OX 3@ 3R 11 femefi/aeTeht Tia & Sreen yi% o faa, et awa gierassst 12

ferefi/dreT st ifar & JEeRt ST T IS W 3T 7| The | UEel IR ZRT a9 h T8 gl
ferat 22

(a)110 m (b)1200 m ©)120m  (d)1100 m (¢) None of these






" CLASS EXERCISE
Two Buses Starts from New Delhi & Ghazi'yad with the speeds of 70 kmph &
60 kmph & going towards Ghaziabad & New Delhi respectively. At what

distance from New Delhi, two Buse 'f the distance between
@-‘ TS feeeht 3R Mt & @

New Delhi & Ghaziabad ik
aﬁwﬁtﬁmﬁ?ﬁ% s ¢ $°

SHEIT: 70 ToRe / 92T 3R 60 T
TfeTaTETe 3R T3 fRoat i AR %mﬁﬁ«—«ﬁamﬁa&w 31 T U ZE

aﬁm‘i%u&#ﬁm‘iaﬁ?m%aﬁmﬁaﬁssoﬁw
(a) 300Km  (b) 3 ¢) 400 Km







CLASS EXERCISE

Two buses starts at same time from two bus stations and proceed towards each other

meet

mmﬁmﬁa‘i%aﬁ?@m‘taﬁwm feret/e2T 3R 50 %ﬁmaﬁmﬁaxﬁ
qedl 3l 99 F e &, aﬁqa:aviauﬁﬁmo%nﬁmﬁmmfﬁﬁl% Spo i s b
sfter st it 1 il




2015 " CLASS EXERCISE
A policeman shews a thief at a distance 600 m ahead and starts chasing him at the

12 km in 20 min

& T hite?

(a) 1360 m (b)) 1400 m (c) 142(






' XECSE

T hITeTa?
(a)30km/h  (b) 20 km/h (¢) 15km/h  (d) 40 km/h

~ = K‘d/

None of thes
&
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CLASS EXERC!SE

- Wwo-person start fro
towardiylat the same time, if a f%w.%lches point(B And returns
immediately toward; 0 u eet the Slower person at 9 hich is 50 km from
B between Aagd B then find ‘hf both if the @ between both

ek aied © 1ot Tfe 31 ATk Uah &t

a1 EUTT A 3R 3
TG | A ¥ BT SR To1 9% & € afS d gt fag B Y ugaat § 3R 3 A i

The Distance between two places A and B i







CLASS EXERCISE

The Distance between two places A and B is 900 Km. if two-person start fron@

towards B at the same time If their speeds are 60kmph and 40 km/h, In this way,

the fast person reaches point B and returns immediately towards A so meet the

slower person at a distance ol(: Jom from B between A and B then find the value

of x (in Kms)? 31 THT A 31X B & aft= =t git 900 foredft 71 afs 2t safw o &t awa
W A ¥ B I 3R TIAT IT% &hAd & Alq 34eh! TTid 60 Teret sife w2 29 40 et/ der
g, A1 36 ATE, 9 SAfwh f6g B U UE ATAT ¢ AR T A Y AR wiear g, gaforg oim
sateh | x forwt &t 3t o et A 3R B & &Y x ST 7 (KMSWJH) 719 ?




CLASS EXERCISE

Places A and B are 60 km apart. 2 men P and Q start from A at the same time and
meet 1st time at a place 12 km from B when they have to reach A after immediate
return from B. If the speed of a slower person is 48 km/h. Find the speed of a faster

person? TUTH A 3R B U T & 60 Rt 1 2 st PR QUuas i awa H A &
TAAT I8 S & AR B § 12 forrdt it 3t W vgelt an e 8, 99 3% BA qia #ted &
qTE A T UgaAT grat g1 Al ot safs shi i 48 fardfi/der 81 ga o safw &t i Jma
shiteTe?

(a) 72km/h  (b) 16km/h  (c)20km/h  (d) 24 km/h  (e) None of these
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